51.zydz + (z +1)dy = 0.

52. \/y? + 1dz = zy dy.

53. (22 — 1)y’ + 2zy®> = 0; y(0) = 1.
54.y'ctgx+y =2; y(z) > —1opuz — 0.
55.y =3y/v% y(2)=0.

56.zy" +y =y*; y(1) =0,5.

57.2z%yy" +y? = 2. 58.y' — zy? = 2zy.
59.c7 (1+%) =1  60.2 =107,
61.3:% +t=1. 62. y' = cos(y — z).

101. (z + 2y)dz — zdy = 0.
102. (z —y)dz + (z +y)dy = 0.
103. (y? ~ 2zy)dz + 2?dy = 0.
104. 223y = y(222 — y?).

105. y* + 2%y’ = zyy'.

106. (z% + y2)y' = 2zy.

JdupPepeHIHATIBIK TEHIEYIepIi menminis:
d*y

1. ——-4y=0.
dx

2. f:f—?t—E@—iluﬁj.
dat” ct
3. 97 3% 6y—o.
dx’ -
d’y

X
H] fﬁ"
. —7—4—+8y=0.
dx” dx
5.(a) y"+4y"+13y =0 KaIIsl MemiMiH Ta0bIHBI3.
(b) JepOec memiMiH Ta0BIHBI3:

y'+4y'+13y=0, y(0)=2, y'(0)=-3.
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136. oy’ ~ 2y = 2z1.

137. (22 + 1)y’ = 4z + 2.
138. ¢y + ytgz = secz.

139. (zy + €*)dz — xdy = 0.
140. z%y’' + zy + 1 = 0.

141. y = z(y' — z cosz).

142. 2z(2° + y)dz = dy.

511.y" +y' — 2y = 0. 512. y" + 4y’ + 3y = 0.
513. " — 2 = 0. 514. 24" — 5y’ + 2y = 0.

515.9" —4y' + 5y =0. 516.y" + 2y’ + 10y = 0.

+2y'2=—1.51. y=C(a+1)e~*; z=—1.52.In|z|=C++/y2+1; z=0.
53. y(In|z2—1|+C)=1, y=0; ylin(1—z2)+1]=1. 54. y=24+C cos x;
y=2—3 cos z. 55. y=(x—C)3; y=0; y=(z—2)3; y=0. 56. y(1-Cxzx)=
=1; y=0; y(1+2)=1. 57. y2—2=Cel/* 58. (Ce™* —1)y=2; y=0.
59. e~®=1+Cef. 60. z=-lg(C—10%). 61. x2+2-2t=C.
. M ) M _
CKOPOCTBH pakersl v(T)=cln M=z’ v(M—m)=cln - 101, z+y=
=Cx?; z=0. 102. In(z%+y?)=C—2arctg(y/z). 103. z(y—z)=Cly;
y=0. 104. z= + yvInCz; y=0. 105. y=Ce¥/*. 106. y%2—z2=Cy;

136. y=Cz2+at. 137. y=(22+1)(C+ In |25+1])+1. 138. y=sin 2+
+C cosz. 139, y=e*(In |z|+C); 2=0. 140. zy=C— In|z|. 141. y=
=gz(C+sinx). 142. y:Ce‘°2~—a:2~1. 143.y=CIn’ 2— Inz. 144. zy=
511. y=Cie*+Coe 2%, 512. y=Cie "+ Cae 3%, 513. y=C1+C2e32

514. y=C1e2*+C2e%*/2. 515. y=e?*(C; cosz+Cssinx). 516. y=
=e~?(C cos 3z+C2sin3z). 517. y=C) cos 22+C2 sin2z. 518. y—=



